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	2007 P1
	[image: image1.png]12. The diagram shows water lying in a length of roof guttering.

The cross-section of the guttering 1s a semi-circle with diameter
10 centimetres.

The water surface is 8 centimetres wide.

Calculate the depth, d, of water in the guttering.
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	2cm
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	[image: image2.png]10. A badge is made from a circle of radius 5 centimetres.
Segments are taken off the top and the bottom of the circle as shown.
The straight edges are parallel.
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The badge measures 7 centimetres from the top to the bottom.
The top is 8 centimetres wide.

Calculate the width of the base.
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	6cm
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	[image: image3.png]A triangular paving slab has measurements as shown.
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Is the slab in the shape of a right angled triangle?

Show your working.

A

60 cm




	
	3

	Ans
	It is not right angled.
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	[image: image4.png]The curved part of a doorway is an arc of a circle with radius
500 millimetres and centre C.

The height of the doorway to the top of the arc is 2000 millimetres.

The vertical edge of the doorway is 1800 millimetres.
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Calculate the width of the doorway.




	
	5

	Ans
	800mm
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	[image: image5.png]6. An oil tank has a circular cross-section of radius 2-1 metres.

It is filled to a depth of 3-4 metres.
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(@) Calculate x, the width in metres of the oil surface.

(b)) What other depth of oil would give the same surface width?
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	(a)  3.3m       (b)  0.8m
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	[image: image6.png]8. A rectangular picture frame is to be made.

It 1s 30 centimetres high and d 30cm
22-5 centimetres wide, as shown.
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To check that the frame is rectangular, the diagonal, d, is measured.
It is 37-3 centimetres long.

Is the frame rectangular?
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	[image: image7.png]d* #2252 +30°

Frame is not rectangular












